— ~
IS )
S =
g R S IR A A 8
=

S 1 P
o ~
~— e}
o -

-

1072

il
S
14
1
0.95
107
—=— DQM_]
—— DQM_} u
—— DQM_mkFit_newANDPL
—— DOM_mkFit_newiOKKK
S £
5 S b oe e e e
'\? R R A "D\N
5 7 | A S
5, o -
SRV P S A W Y HEROYIY S 10—l Wbl il i
I r : I r : : :
o [ : o [
1_— """"""""""""""" """""" 1_— """""""""""""""""""""
0.950' T : S (')2 5 0.950' T 5 (')2 5
10™ 1 1 . 10° 1 1 .
TPp, (PCA tlo beamllng'f) TPp, (PCA t]b beamllng'f)

o p/p.)

1074

—1 ; I : 2 3
10 1 TPlpg)T (PCA t%)obeamlin%)o



	Contents
	Page 1


